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University of Crete – Department of Mathematics and Applied Mathematics
Problem Set No 3

1. If fn, f : [0, 1] → R with fn → f uniformly on [0, 1], show that
r
[0,1]

|fn − f | → 0. Show that this is not true if
the interval [0, 1] above is replace with R.

2. Assume 0 ≤ f ∈ L1(R). Show that
r
{f>n} f → 0 for n → ∞. Show also that for everyϵ > 0 there exists δ > 0

such that for every E ⊆ R with m(E) < δ we have w
E

f ≤ ϵ.

3. Suppose that f : [−1, 1] → [0,+∞] and that for every t > 1 we have that

m{f > t} ≤ 1

t2
.

Show that
r
R f < ∞.

We have (justify this) w
f =

w
{f<1}

f +

∞∑
n=0

w
{2n≤f<2n+1}

f.


